
 Quiz 45   

SBU 2020 Lesson 45 (quiz)   

 

1) How would you play these suits to make as many tricks as possible? 

 a)  AQ92 b)  K6 c)  AQ d)  AKQ76 

   J103  AQ743   KJ2   10984 

 ________________ ________________ ________________ ________________ 

 ________________ ________________ ________________ ________________ 

 

2)  A543 

 Q962 

 AKQ 

 76 

N 

W      E 

S 

 62 

 AK 

 J432 

 A5432 

 West plays in 3NT 

 North leads Q. 

 You count 9 Sure Tricks, so you win the first trick. 

 In which order should you cash your winners? 

 _________________________________________ 

 _________________________________________ 

 

 

 

3)  A62 

 AJ2 

 J98 

 A753 

N 

W      E 

S 

 K43 

 96 

 AQ1052 

 K84 

 West plays in 3NT.  North leads K. 

 Can you explain how you put your contract at risk by  

 winning the first trick? 

 
 _______________________________________________ 

 _______________________________________________ 

 And how you guarantee making your contract by ducking 

 the first trick? 

 

 _______________________________________________ 

 _______________________________________________ 

  

 

 

 

 

4)  854 

 J4 

 AQJ98 

 J87 

  You are East, defending a contract of 3NT by South. 

 West leads 10.  

 You win the ace and return 5, which South wins with the king. 

 Now South leads 10, partner plays 5, and dummy 8. 

  How do you plan the defence? 

 _____________________________________________________ 

 _____________________________________________________ 

 _____________________________________________________ 

 N 

W      E 

S 

 1072 

 A5 

 K643 

 Q1032 
   

 


